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100 Questions

Que. 1 Directions: Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options:

It was our first trip after marriage, and my husband and I decided to visit Fiji. Being explorers we were most
excited to see their second-largest island, Vanua Levu. The night before the trip, our travel broker sent us a
message that the hotel had lost our reservation details. So eight hours before we were supposed to leave for
the airport, they had to scramble to find a reservation for us. The hotel was a four-hour drive from the
airport, and we were unsure if we would even be accommodated.

We got to the airport and we were told at one check-in desk that we had to board the flight from the opposite
side of the airport. Not only did we have to run through the San Francisco Airport with our 40-pound hiking
packs, but we also had to run through security because we were going to miss our boarding time. We dashed
through security but, as we boarded, realized that they had overbooked the plane, and two of us were not on
board and we were left behind.

The airline lost half of our baggage, and we were forced to make the trip without it. During our layover to
take off from LAX to Fiji, someone had a heart attack, and the flight attendants were frantically looking for
a doctor. Luckily there was one on board, and the person made it off in time. Now two hours delayed, we
made the 11-hour flight to Fiji.

Everything went smoothly for two weeks, but on the way back, our flight was delayed due to bad weather,
and we were stuck on the airport floor. The two of us had some mysterious stomach bug that made us
extremely ill for 24 hours. [ remember sleeping on the floor, wrapped in my sleeping bag, crying because I
was so sick and just wanted to get home. By the time we landed in San Francisco, we were mentally
exhausted. We left the airport at 3 a.m. and made the three-hour drive back home! It was such a wild
experience but has been our favourite anecdote to tell at gatherings.

According to the passage from which city were the couple boarding their flight?
1. Vanua Levu
2. San Francisco
3. Los Angeles
4. Fiji
5. Tonga
Correct Option - 2

Que. 2 According to the passage, how long was the couple's drive back home from the airport?
1. Four hours
2. Twenty-four hours
3. Eight hours
4.  Three hours
5. Two hours
Correct Option - 4

Que.3 According to the passage, at which airport did, the couple have a layover to take a flight to Fiji?
1. San Francisco

Fiji

Los Angeles International Airport (LAX)

2
3. Vanua Levu
4
5.  None of these
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Correct Option - 4

Que. 4 According to the passage, the couple was forced to make the trip without what?
1. Baggage
2. Sleeping bag
3. Boarding pass
4. Hiking pack
5. None of these
Correct Option - 1

Que. 5 According to the passage, how long did it take to reach the couple's hotel from the airport?
1. Eight hours
2. Twenty-four hours
3. Four hours
4. FEleven hours
5. Two hours

Correct Option - 3

Que. 6  Which of the following is/are correct according to the given passage?

A. The couple was most excited to see Fiji's largest island, Vanua Levu.
B. The couple had to run through the San Francisco Airport with their 40-pound hiking packs.
C. The couple had to board an 11-hour flight to reach Fiji.

1. Only A

2. OnlyB

3. OnlyC

4. Both A and B
5. BothBandC

Correct Option - §

'

Que.7 Choose the Antonym of the word 'frantic'.
1. Agitated
2. Distraught
3. Furious
4. Calm
5. Weird
Correct Option - 4

Que. 8 Choose the Synonym of the word 'scramble’'.

1. Retreat
2. Rush

3.  Depart

4. Escape

5. Evacuate

Correct Option - 2
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Q Directions: Given below is a word, followed by three sentences that consist of that word.
Identify the sentence(s) that express(es) the meaning of the word.
PORE
A. I pored the water all over the plants.
B. My brother has skin problems because of his clogged pores.
C. The class pored over the museum's exhibit.

1. OnlyA

2. OnlyB

3. OnlyC

4. Both Aand B
5. BothBandC

Correct Option - §

Que. 10 In the following sentence, four words or phrases have been printed in bold. One bold part in
the sentence is not acceptable in Standard English. Pick up that part and mark its number. If
there are no errors in the bold parts, mark (5) i.e. No error as the answer.

Providing fresh hopes(A)/ to ginger farmers in South India, the prize(B)/ of ginger rhizomes has been
spiralling(C)/ on account of scant supply and huge demand.(D)/ No error

1. hopes

2. prize

3. spiralling
4. demand
5.  No error

Correct Option - 2

Que. 11 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

The stratagic(A) dimensions of Indo-Vietnamese relations, initiated(B) during the 1980s, began unfolding
in the form of structured(C) and institutional(D) arrangements(E) during the 1990s.

1. A
2. B
3. C
4. D
5. E

Correct Option - 1

Que. 12 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

The Hispanics(A) had hoped for solid movemant(B) on the all-important issue(C) of immigration(D)
which has turned out to be a huge disappointment(E).

1. A
2. B
3. C
4. D
5. E

Correct Option - 2
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Que. 13 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

By the end of 1995, this had matured(A) into a full-dialogue partnarship(B) and in 1996, India joined the
security(C) dialogue platform(D), the ASEAN Regional Forum(E).

1. A
2. B
3. C
4. D
5. E

Correct Option - 2

Que. 14 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.

Its priority(A) programs include building massive(B) physical infrastructure(C) that only disrupts(D) the
natural infrastructure we desparately(E) need to protect.

I. A
2. B
3. C
4. D
5. E

Correct Option - 5

Que. 15 Directions: Fill in the blanks in the passage below, with the word from among the options
given for each blank labelled (1) to (6). Choose the word that fits in each blank most
appropriately in the context of the passage.

Aside from the nuance of the screen, stage, method, and technical acting, there are also (1) types of
actors and what they do on stage or on cam. An actor may be known to stick to a role that’s similar to all his
other previous roles or he may be knowntobe ~ (2) . Each actor has a distinctive style of his own that
the director makes use of to _ (3)  the quality of his play or film.

Personality actors are actors who take their persona with them from role to role. Personality actors make use
of theirown  (4)  in playing the role instead of learning about the character he is playing. As a result,
reading the actors’ names alone can tell the audience what to expect in a film since personality actors rarely
stray from their usual roles.

A character actor is the exact opposite of a personality actor. Character actors __ (5) _ their roles and
detach themselves from their characters. They do not allow their own personality to come to the surface as
this will make them break character.

Chameleon actors are like an upgraded version of character actors. Chameleon actors can play a variety of
___(6)__ roles. They are known to be versatile and can successfully take on any personality and even
change their external features for a role.

Select The most appropriate option to fill in blank number 1.
1. ordinary
2. usual
3. conventional
4. different
5. generic
Correct Option - 4
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Que. 16 Select The most appropriate option to fill in blank number 2.

1. inept
2. absurd
3. dull

4. limited

5. versatile

Correct Option - §

Que. 17 Select The most appropriate option to fill in blank number 3.
1. enhance
2. undermine
3. denounce
4. revile
5. debase
Correct Option - 1

Que. 18 Select The most appropriate option to fill in blank number 4.
1. temper
2. personality
3. emotion
4. aura
5. quality
Correct Option - 2

Que. 19 Select The most appropriate option to fill in blank number 5.
1. ignore
2. neglect
3. research
4. investigate
5.  condemn

Correct Option - 3

Que. 20 Select The most appropriate option to fill in blank number 6.
1. matching
2. Attendant
3. concurrent
4. unrelated
5. parallel
Correct Option - 4

Que. 21  Which of the phrases given in the options should replace the word phrase that is underlined
in the sentence to make it grammatically correct? If the sentence is correct as it is and no
correction is required, select 'No correction required' as the answer.

She told me that all her papers were ready and she should leave for Canada next month.

1. will leave
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Eall

5.

shall leave
could leave
would leave

No correction required

Correct Option - 4

Que. 22  Which of the phrases given in the options should replace the word phrase that is underlined

in the sentence to make it grammatically correct? If the sentence is correct as it is and no

correction is required, select 'No correction required' as the answer.

The future of the company is at stake as the present CEO of the company neither is honest nor tactful.

1.
2.
3.
4.
5.

either is
is neither
is either
is only

No correction required

Correct Option - 2

Que. 23  Which of the phrases given in the options should replace the word phrase that is underlined

in the sentence to make it grammatically correct? If the sentence is correct as it is and no

correction is required, select 'No correction required' as the answer.

Although he is my subordinate, he is more senior than me in service.

1.
2.
3.
4.
5.

to me
then me
as me
like me

No correction required

Correct Option - 1

Que. 24 Which of the phrases given in the options should replace the word phrase that is underlined

in the sentence to make it grammatically correct? If the sentence is correct as it is and no

correction is required, select 'No correction required' as the answer.

She is more witty than her sister.

1.
2.
3.
4.
5.

wittiest than
more witty then
most witty than
wittier than

No correction required

Correct Option - 4

Que. 25 Which of the phrases given in the options should replace the word/phrase that is underlined

in the sentence to make it grammatically correct? if the sentence is correct as it is given and

no correction is required, select 'No correction required' as the answer.

To be successful, you must understand why your failure in the past and take steps to prevent it from
happening again.

1.
2.

why had you failed

because you have failed
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3. why you had failed
4. that your failure
5. No correction required

Correct Option - 3

Que. 26 The question below contains five scattered segments of a sentence. Indicate the sequence
which correctly assembles the segments and completes the sentence.

A. project in Oman

B. commission a solar photovoltaic
C. Sterling and Wilson Solar Limited
D. first Indian company to

E. has become the

1. ABCDE
2. EDCBA
3. BCDAE
4. CBAED
5. CEDBA

Correct Option - §

Que. 27 The question below contains five scattered segments of a sentence. Indicate the sequence
which correctly assembles the segments and completes the sentence.

A. by the end of this century--
B. contributing up to

C. Greenland may lose

D. 13 inches of sea level rise

E. 4.5 per cent of its ice

1. ABCDE
2. DEABC
3. CEABD
4. EDCBA
5. DCBAE

Correct Option - 3

Que. 28  The question below contains five scattered segments of a sequence. Indicate the sequence
which correctly assembles the segments and completes the sentence.

A) and which were not

B) children nowadays do not
C) which are open to them

D) available to their parents
E) appreciate the opportunities

1. EDACB
2. CBEDA
3. BECAD
4. EDABC
5. ABECD

Correct Option - 3
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Que. 29 The question below contains five scattered segments of a sentence. Indicate the sequence
which correctly assembles the segments and completes the sentence.

A. of the migrant workers
B. are still searching

C. for work

D. more than one-fourth

E. in villages

1. DABCE
2. ECABD
3. CEDBA
4. ABCDE
5. EDCBA

Correct Option - 1

Que. 30 The question below contains five scattered segments of a sentence. Indicate the sequence
which correctly assembles the segments and completes the sentence.

A. global warming is the term
B. gradual increase in the

C. average temperature of the
D. used to describe a

E. Earth's atmosphere and its oceans

1. ADBCE
2. EDCBA
3. ABCDE
4. BCDAE
5. CABDE

Correct Option - 1

Que. 31 Directions: Read the given Line Graph carefully and answer the following questions.

The line graph shows the number of (Boats + Ships) and Ships manufactured by 5 Different
Companies: A, B, C, D and E in the year 2021.
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Find the average number of Boats manufactured by all the 5 companies.

1. 120
2. 100
3. 125
4. 150
5. 130

Correct Option - 3

Que. 32 Find the ratio of Boats and Ships Manufactured by Company B.

1. 2:3
2. 3:2
3. 1:3
4. 2:1
5. 2:5

Correct Option - 2

Que. 33 The total number of boats manufactured by D and E is what percent of the total number of boats
manufactured by A and B?

1. 125%
2. 100%
3. 50%
4. 80%
5. 75%
Correct Option - 4

Que. 34 For E, total number of (Boats + Ships) manufactured in the year 2022 is 25% more than that of
2021 and the number of boat manufactured were same. Find the difference between the number of
ships manufactured by Company E in both the years.

1. 95
2. 75
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3. 100
4. 120
5. 70
Correct Option - 2

Que. 35 Number of Boats manufactured by a New Company X is thrice the number of boats manufactured
by Company D, while the total number of (Boats + Ships) manufactured by Company X is twice
the number of (Boats + Ships) manufactured by Company C. What will the total number of Ships
manufacture by Company X?

1. 450
2. 350
3. 300
4. 250
5. 200

Correct Option - 1

Que. 36 Length of train A is half as that of train B. Train A and B crosses the platform of length 100 meters
in 5 seconds and 6 seconds respectively. If the ratio of speed of train A and B is 2 : 3, Find the
length of train B.

1. 450m
2. 800m
3. 600m
4. 900 m
5. 750m

Correct Option - 2

Que. 37 Two inlet Pipes A and B can fill the tank in 3 hours. C is the outlet Pipe. Together A, B and C can
fill the tank in 4 hours. Find in how many hours, Pipe C can emptied the tank.

1. 8hours
2. 9hours
3. 15 hours
4. 10 hours
5. 12 hours

Correct Option - §

Que. 38 A invested Rs. X and B invested Rs. (X + 10) in a partnership for 20 months and 16 months
respectively. If their profit ratio after respective time period is 5 : 6, then find the investment of B?

1. Rs.20
2. Rs.30
3. Rs.25
4. Rs.40
5. Rs.50

Correct Option - 2

Que. 39 6 years ago, the ratio of age of A and Bis 7 : 6. A is 6 years older than C. If the sum of the present
age of B and C is 32, then find the present age of C.
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1. 21 years

2. 14 years

3. 18 years

4. 28 years

5. 12 years
Correct Option - 2

Que. 40 A Vessel contains X litres of solution of milk and water in the ratio of 7 : 3. If 50 liter milk added
to the mixture, then the milk becomes 80% of the resultant mixture. Find the difference between
Milk and water in initial Mixture.

1. 28litre
2. 32litre
3. 40 litre
4. 44 litre
5.  52litre

Correct Option - 3

Que. 41 A sum X 2,450 provide X 441 at simple interest at the rate of interest X% in 3 years. If the new rate
of interest x + 3%. Then what is the new interest for the same time?

1. 5615
2. %463.23
3. X454.23
4. 6515
5. R661.5

Correct Option - §

Que. 42 The ratio of Marked Price and Selling Price of an article is 8 : 7 and the article is sold at 40%
profit. If the Selling Price is Rs. 200 more than the Cost Price, then Find the Cost Price.

1. Rs. 400
2. Rs.300
3. Rs.550
4. Rs. 600
5. Rs.500

Correct Option - 5

Que. 43 A boat travels at a speed of 10 kmph in still water. The speed of the stream is 4 kmph. How much
time will the boat take to travel 30 km upstream?

1. 3hrs
2. 6hrs
3. Shrs
4. 7hrs
5. 10hrs

Correct Option - 3

Que. 44
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Circumference of the semicircle is 36 cm and the radius of Semicircle and Breadth of a rectangle is same. If
the area of Rectangle is 216¢m? Find the length of the rectangle. [Using w = 3]

1. 42cm
2. 28cm
3. 30cm
4. 25cm
5. 35cm

Correct Option - 3

Que. 45 Rohit spends 30% of his salary on grocery shopping. Out of the remaining salary, he pays 20% for
rent, spends 50% on loan payments, and saves Rs. 14700. What will be the salary of Rohit?

1. Rs. 55000
2. Rs. 60000
3. Rs. 65000
4. Rs. 70000
5. Rs. 80000

Correct Option - 4

Que. 46 What will come in place of the question mark (?) in the following question?

2/7 of 504 + 24 + 30 = (?)?

1. 7
2. 6
3. 9
4. 10
5. 11

Correct Option - 2

Que. 47 What should come at the place of ?’ in the following question?
V14400 x V8100 - (60)% = ? + (80)2

1. 1000
2. 900
3. 450
4. 800
5. 700

Correct Option - 4

Que. 48 What will come in place of question mark (?) in the following equation?

V1225 % 12 + V4900 - (19)2 =2

1. 129
2. 139
3. 141
4. 213
5. 175

Correct Option - 1
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Que. 49 What will come in place of question mark (?) in the following equation?

621+ (3> x2-37=17

5.

1
2.
3.
4

9

27
51
81
72

Correct Option - 4

Que. 50
1. 623
2. 581
3. 559
4. 597
5. 607

1/3 of 786 — 11/8 0of 1032 =7 — 13/4 of 528

Correct Option - 3

20% of 450 + V216 — 82 =9

Que. 51
1. 32
2. 28
3. 42
4. 24
5. 18

Correct Option - 1

What will come in place of question mark (?) in the following equation?

What will come in place of question mark (?) in the following equation?

Que. 52  What will come in place of question mark (?) in the following equation?

5.

1
2.
3.
4

12
17
21
7

14

(45 (26— 56+ 8+ 12)} =2

Correct Option - §

Que. 53
1. 150
2. 170
3. 120
4. 140
5. 190

What will come in place of question mark (?) in the following equation?

55% 0f 600 -?=8 x 180 +9

Correct Option - 2
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Que. 54 What will come in place of question mark (?) in the following equation?

5.

1

2.
3.
4

24 x45+9-60=7-120
120
150
210
180
90

Correct Option - 4

Que. 55 What will come in place of question mark (?) in the following equation?

5.

1
2.
3.
4

55% of 700 + /3375 — 122 =92
4
18
16
22
12

Correct Option - 3

Que. 56 What will come in place of question mark (?) in the following equation?

5.

1
2.
3.
4

486 +33+32197-6x5=9

W O K~ =

7

Correct Option - 1

Que. 57 What will come in place of question mark (?) in the following equation?

5.

1

2.
3.
4

25% of 500 + 75% of 200 = ? + 140
105
115
95
125
135

Correct Option - §

Que. 58 What will come in place of question mark (?) in the following equation?

M.

{95 -(125-64+8x 7)} =2
36
22
32
26
38
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Correct Option - 4

Que. 59 What will come in the place of question mark (?) in the following question?

5.

1
2.
3.
4

342252 +182.92=9_152
991
999
899
1099
1199

Correct Option - 2

Que. 60 What will come in place of question mark (?) in the following equation?

5.

1
2.
3.
4

(13)2- (4 -N676 + 4 =2
73
79
83
89
93

Correct Option - 3

Que. 61 What should come in place of question mark (?) in the following number series?

5.

1
2.
3.
4

15,23, 30, 36, 41, ?
43
44
45
46
47

Correct Option - 3

Que. 62 What should come in place of question mark (?) in the following number series?

5.

1
2.
3.
4

8,22,50,92,148,?
218
208
198
228
238

Correct Option - 1

Que. 63 What should come in place of question mark (?) in the following number series?

o=

444,7,103,39,12,4
218
256
236
248
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5. 228
Correct Option - 5§

Que. 64 What should come in place of question mark (?) in the following number series?
10, 35, 135, 360, 760, ?

1. 1225
2. 1275
3. 1365
4. 1385
5. 1315

Correct Option - 4

Que. 65 What should come in place of question mark (?) in the following number series?
4,10, 22, 46, ?, 190

1. 92
2. 94
3. 96
4. 102
5. 104

Correct Option - 2

Que. 66 Directions: The questions are based on the following information:

Three generations of people live together. There are 12 members in the family viz. M, N, O, P, Q,
R, S, T, U, V, W and X who went out for a picnic.

R and Q are kids of T and S. V, who is the father in law of W is the paternal uncle of R. T has a son and a
daughter. P is the husband of O. O is the daughter of Q. M is the brother of N. R is married to U. Father of N
is U who has only one daughter. S is the father in law of U. W is the wife of X.

Four of the five are alike in a certain way and hence form a group. Which one the following doesn’t belong to
the group?

1. Q
2. P

3. 0
4. M
5. N

Correct Option - 1

Que. 67 How is W related to T?

1. Cousin
2. Granddaughter
3. Niece

4. Sonin law
5. Daughter in law
Correct Option - 5

Que. 68 How is N related to S?
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1.  Grandson
2. Daughter’s cousin
3. Granddaughter
4. Son’s nephew.
5. Daughter
Correct Option - 3

Que. 69 1fjt’s possible to make a meaningful word from 15¢, 2nd, 7t and 8t letters of the word
'ARCHITECT!', then which will be the first letter of the word? Mark ‘X’ if no such word can be
formed, ‘M’ if more than 1 such word can be formed.

1. R
2. A
3. C
4. E
5. M

Correct Option - §

Que. 70 In each question below are given two statements followed by two conclusions numbered I and II.

You have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements, disregarding commonly known facts. Give answer-

Statements:
Few N are G.
All Gare T.
Conclusions:
I. All N being T is a possibility.
II. Some T are G.
1. If only conclusion I follows.
2. If only conclusion II follows.
3. Ifeither conclusion I or II follows.
4. If neither conclusion I nor II follows.
5. Ifboth conclusions I and II follow.
Correct Option - §

Que. 71 In each question below are given two statements followed by two conclusions numbered I and II.

You have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements, disregarding commonly known facts. Give answer-

Statements:

No cap is a stool.

Few stools are tables.

Conclusions:

I. Some tables are not caps.

II. All caps being tables is a possibility
1. If only conclusion I follows.

2. If only conclusion II follows.
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3. Ifeither conclusion I or II follows.
4. If neither conclusion I nor II follows.
5. If both conclusions I and II follow.

Correct Option - §

Que. 72 Direction: In the question below are given two statements followed by two conclusions numbered
I and II . You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements
Only a few watches are electric
No watches are ring
Conclusions
Some electric are ring
Some electric can never be ring
1. Only I follows
2. Only II follows
3. Bothiand II follows
4.  Either I or II follows
5. Neither I nor II follows
Correct Option - 2

Que. 73 Directions: In the question below are given two statements followed by two conclusions. You have
to take the given statements to be true even if they seem to be at variance with commonly known
facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.

Statements:
Only a few Hairs are White
Only a few White are Sky
Conclusions:
I. All Hair are Sky
II. Some Hairs are not Sky
1. Only I follow
2. Only II follow
3. Both I and II follow
4.  Either I or II follow
5. Neither I nor II follow
Correct Option - 4

Que. 74 Directions: In the question given below are given two statements followed by two conclusions
numbered I and II. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts. read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

Statements:
All doors are walls.
Only a few floors are walls.

Conclusions:
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I. All floors being doors is a possibility.

II. No door is a floor.

1
2.
3.
4

5.

Both conclusions follow.

Neither conclusion I nor II follows.
Only conclusion II follows.

Only conclusion I follows.

Either conclusion I or II follows.

Correct Option - 2

Que. 75 Direction: Study the following numeric sequence and answer the question given below.

43157831629712135268654321387

How many odd numbers are there which are immediately preceded by a perfect square?

1.
2.
3.
4.
5.

One
Two
Three
Four

More than four

Correct Option - 5

Que. 76  Which of the following number will be seventh to the right of tenth number from the left?

1.
2.
3.
4.
5.

1
5
3
6

7

Correct Option - 2

Que. 77 If all the even numbers are dropped, which number will be ninth to the left of fifteenth number

5.

1
2.
3.
4

from the left?
1
3
5
7

9

Correct Option - 1

Que. 78 How many odd numbers are there which are immediately preceded by perfect cube and followed

5.

1
2.
3.
4

by perfect square?
None
One
Two
Three

Four

Correct Option - 2
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Que. 79 Directions: Read the given information carefully and answer the questions asked below.

Eight people P, Q, R, S, T, U, V and W are sitting around a square table in such a way that four of
them sit at four corners of the table while four sit in the middle of each of the four sides. People who are

sitting at the corner are facing the center while people sitting in the middle are facing outside the center.

U is sitting second to left of W. S is sitting second to the right of P. T who is not facing inside is sitting third
to the right of R, who is the immediate neighbour of both V and U. U is one of the immediate neighbour of

Q. Two persons are sitting between U and P.

Who is sitting exactly opposite to U?

5.

1
2.
3.
4

P
Q
R
S
T

Correct Option - §

Que. 80 Who among the following are facing inside?

1.
2.
3.
4.
5.

P,V,R,U
W,P, T,R
T, W, U,V
S,Q,R,P
V,W,Q, R

Correct Option - 4

Que. 81 Who is sitting third to the right of V?

1.
2.
3.
4.
5.

P

H gm0

Correct Option - 2

Que. 82 Who are the immediate neighbours of Q?

1.
2.
3.
4.
5.

T and P
Tand R
Wand U
Tand W
Uand R

Correct Option - 4

Que. 83 Who is to the immediate left of W?

1.

2
3.
4.
5

R

< CcC »nn T
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Correct Option - 1

Que. 84 Directions: Study the information carefully and answer the questions given below.

Seven persons are working in the same company on different designations. The person working on
that designation is named P, Q, R, S, T, U, and V but not necessarily in the same order. They have different
designations starting from the clerk, officer, Assistant Manager, manager, Assistant General manager,
General manager, and Director. Director is the topmost post of the company and the clerk is the lowermost
post of the company. Only four persons sit between P and Q. P is not working at a position of officer nor as a
clerk. There are two designations between R and S. R is senior to S. R is a General manager or Director.
More than two designations are there between T and U. U is working as a designation of clerk in the
company.

Which of the following person working as a Officer?

"ol

1

2.

3.

4
5.V

Correct Option - 2

Que. 85 Whose designation is just above the S's designation?

1. Manager
2. Officer
3. 'V

4. Both Option 2 and 3
5. Bothoption 1 and 3
Correct Option - §

Que. 86 How many designation between P and V?

1. One

2. Three

3. More than three
4. Two

5. None of the above
Correct Option - 4

Que. 87 Which of the following statement is correct regarding V?
I) V is a manager.
IT) The position which is just above V is T's position.
IIT) Two designation between P and V.
1. Only statement I is correct.
2. Only statement II is correct.
3. Only statement III is correct.
4.  All are correct.
5. All are incorrect.
Correct Option - 4

@ Teachingninja.in



Que. 88 On which position does R is working?
1. Director
2. Assistant General manager
3. General manager
4. Manager
5. Assistant manager

Correct Option - 3

Que. 89 Direction: In the following questions, assuming the given statements to be true, find which of the
two conclusions I and II given them is/are definitely follow.

Statement:
B>E<L;A=T>S;K<L<O<A<I
Conclusion:
LE=T
ILE<T
1. Only I follows
2. Only II follows
3. Either I or II follows
4. Neither I nor II follows
5. BothIand II are true
Correct Option - 3

Que. 90 Directions: In this question, relationship between different elements is shown in the statements.
The statements are followed by two conclusions.

Statements:
G<I>H=J],I<U=P
Conclusions:
.LG>P
IL.P>J]
1. Only conclusion I is True
2. Only conclusion II is True
3. Both conclusion I and II is True
4. None of the conclusion I and II is True
5. Either conclusion I or II is True

Correct Option - 2

Que. 91 Directions: In this question, relationship between different elements is shown in the statements.
The statements are followed by two conclusions.

Statements:
K<L=M<D<T>R>W=Q
Conclusions
.D>W
II. M<R

1. Only conclusion II is True

2. Either conclusion I and II is True
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3.
4.
5.

Only conclusion I is True
None of the conclusion is True

Both the conclusion I and 1II is True

Correct Option - 4

Que. 92 Directions: Study the following information carefully and answer the questions that follow.

A certain number of people are sitting in a row facing towards the north. X is sitting second from

the right end of the row. Five persons are sitting between X and P. C is sitting immediate right of P. E is

sitting third to the right of C. Seven persons are sitting to the left of E. A is sitting on one of the extreme ends
but not sitting immediately right of X. T is sitting eighth to the right of A and immediately left of X. Y is

sitting second to the right of T. Four persons are sitting between Y and R.

Who is sitting at the extreme left end of the row?

1.
2.
3.
4

5.

P
A
T
X
Y

Correct Option - 2

Que. 93 How many seats are there in row?

1.
2.
3.
4.
5.

10
11
13
14
17

Correct Option - 2

Que. 94 How many persons are sitting between C and T?

1.
2.
3.
4.
5.

Two
Four
Three
Five
Six

Correct Option - 3

Que. 95 Who is sitting immediate left of R?

1.
2.
3.
4.
5.

C

< =

A

Correct Option - 1

Que. 96 What is position of E from the right end of the line?
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1. First

2. Second
3. Third
4. Fourth
5. Fifth

Correct Option - 4

Que. 97 How many such pairs of letters are there in the word ‘PAGINATE’, each of which has as many
letters between them in the word (both forward and backward direction) as they have between them
in the English Alphabet?

1. One
2. Two
3. Three
4. Four

5. More than four
Correct Option - 1

Que. 98 Direction: Read the following information carefully and answer the given question.

There are seven persons - A, B, C, D, E, F and G. They are going market to purchase some items.
Only Three persons reach before D. E reach before F and G but F is not the last person. G reached before F.
A reach before C but after D. C is not the last person.

How many persons between F and C?

1. One
2. Two
3. Three
4. Four
5. None

Correct Option - 2

Que. 99 Who reaches market immediate after A?

1. E
2. B

3. C

4. F

5. Noone

Correct Option - 3

Que. 100 How many persons reaches market before F?

1. One
2. Two

3. Theree
4. Four

5. Noone

Correct Option - 2
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